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Review — Basics of Geometry Unit 1B

1. Ifan £ measures 68° 28’ 14”7, what's the measure Qfll;\;ééomplement of half this angle?
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2. The measure of an angle is 4 times the measure of its complement What's the supplement of the
angle? X + Yy = 90 o ol % =40 -%)
5% = Cf@ Supr \' X - 3leo-Hy | -7
Fill in the blank: /\ U&A& X =12 o

3. If 2 angles are comp!ementary, then they both have to be 4 c,d“’e/

4. Angles that are supplementary and congruent are @(3\'\"" angles.

5. The supplement of an obtuse angle has to be A c/d'\'(i—'

6. Find x. Ladow Peoir 7. Find the m/1.
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9. Find x in the diagram below:
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10. /R =132°. /R is bisected, then one of the resulting angles is trisected. What's the measure of
one of the smallest angles?
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11. If 2 Zs are supplementary to the same £, then they are C&Pf*fyf‘vf AT to
each other.
12. One of 2 supplementary angles is 4 more than twice the other. What is the measure of the
angle? What’s the measure of the complement of the angle?
W+ 2xtd = (6O ®52,1 r
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13. The measure of the supplement of an angle plus the complement of the same angle is 168°.

What's the measure of the original angle?
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14. Use the diagram at right. Find x & y.

Given: AB1BD
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16. ZABC suppl £DEF, ZGHI suppl ZDEF.
ZABC =5x—-3 & ZGHI =3x + 27
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. )
Given: £ZE = ZEGF, Ll = ZHGI
Prove: ZE= /I

F )) H
Statement Reason
1 RAEZAELL XL T XH6T 1. Given
2. 2. Vertical Angles Thm
XE6F 2 %5 WaT
3. LE= /I 3. Sobshtuhen e B

20. Given: /2= /3
Prove: Z1= /4
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1. X2 = 37

1. Given

2. Z1 Suppl to £2
Z3 Suppl to Z4
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3. X\ = xyY

3. Congruent Supplements Thm

21. Given:
Prove:
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